)

. . S "
v Jal Bl g3 ! el b ; y YT J=a

=

(¥1]
| 172

6E1

23/74/98 - HOD-TAB3IDWEG

629
BET

0P
6E1

548

6ET

GLE
6E1

Ec9
6E]
05
BE]

S48

23

172

125

a3

171
B75

15%'1-‘54 24}'12,“9?\-— alch 43,083 /6 /57

I

JJ

TG

—
e @
—
e e
-_'_'_‘—___"‘_‘-\_\_

731N 71NN
A1EPN=NNY 1891

!
I\'I
6446\— B4

L3

o TR

Bl
.

OBz .E [
xr |
2507 7T

IV
W TE

= sl TR

s T 7

S ) ——— 2722
R X 3 ==== = 777
——-—— ey SRS 2005
+ 7283 2787 —— 772
7 B -—— 97 174
B VTLRF ST THE ARANANL w I
e
L ]

7 E———r 2y Fia

2l 300

,“E\I

s

——

S

pep——

R N———

v &

_-L_-__éfjf

1Y TN

AW 2T N IS0 TN TR TR OEng

-

f L Sl

j { =

(B

TV 70

|

I

e e T e

T3

i !ru

171

875

171

eB.

oS

6445 - WA

N i

&446\— B4

BRI
1IN =N115)

CTI0T)

1151

SN 770
3 P IRRY _ﬂ
L ]

B o = 12T . TR e

O A s W FRIP —=
R e o= e —

* 27 + 7283 IS —

L] FELT ITT T TR -

C- -] P i g 17T WU TR AR,

=== 77 iy

e e R 29 ==

+#IXT FLi7

Py
= 7iT
FALTET
b2

2V7 FiE
ol A
&7 TIIF

W

6.H.97 1017 TVINN

PI-TAAN TR 3-TERRan TN TIEL NI TR ..d! I

=l

e - e i

| &

- - BN SRR iy
R e e  E— S S

—————————

> &
/

1 :1250 N7 MY
1

L/’

{

~\ /
\ =Y ATTOY

5 -

6973 — WIA

e DR

O T ND ST T TR TR O3

17c

atanlSi

oM™ - mEm on amn
+I3-7%1 'DN ToEm WIm DN
-6 WM ITDNT WY

NXOW) P EDN DY PN NN N6 T DN Y
» 1965 n">wn o o/ P 1990 "unn
|III|“'I
eEn o Z0

TS0 iy

200N 1NN
PN Nno o3
W T Ty
22,21,19,7 - nemo gm ;103,102 - non ;6445 wn : NPT DWR
9 - ngmD oM : 6446 wm :

DT 42.3 =2 @ nONN Now
AN 37 T 27 'm0 CYIN VBN @ bPTpn N
AFTXON 37 T 27 'm0 LN DU om

D'NoWw NT20 "
O PONR OTIN XD PP ¢ NODAN T

VXN 2XD

o' XD 03=7515113 .p—nnp1 12 T7pn

- (oor)now

% {cr)now

NOoD
94.63% [40.046 WIPN

28.59% (12.098

5.37% | 2.274 |(nowm oo ) DO A on o

16.41% | 6.947

nonn Taa

= = nno X Nnow e e Akt * | oNan “"

37.70% 115.952

1990 - 5 e pavTi) T3 3R 737N PR

17.30% | 7.323

- - QI N a7 5y Grmny W AN ‘% oo

100.00% |42.320

|

- g 0x Now
—

|

—

‘ﬂéMm": nerann

100.00% |42.320 | 2"nD rvon rm

~

171

873

mg T

mwmne T

o"g moan

o
JTE 30N

293 TRLY” 2WR nopn — uWoEn Ma

5

GZE
\ BEL

7 Ky

6ET

1: 5000

2720 owan

= TN - Oom | =32



